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DOPOLEDNE ODPOLEDNE
Ne
4.2. SPOLECNY
6,2
700rozpl., 1x800-(50M+50Z)-PL.,100vol.,2x800-1x(50Z+50P), 700rozpl., 6x50N-1xCv,1xM-8,1x(25r+25l) i10,
Po |1x(25Z+75P) 30, 100vol, 3x800-1x(50P+50K)+1x(25P+75K), 12x(100N-VI ostfe+50vypl.) /3:15, 100vol., 5x(50VI-r+50l,
5.2. |1xK+PL. i30, 100vol, 800-dohmaty a obratky, 100vol. 45VI|-r+551,40VI-r+60l,35VI-r+651,30VI-r+20l,25VI-r+25I,
20VI-r+301,15VI-r+35l) - 1xR,1xC,1xC+TL.,1xC+PL.,
6,4|1xC+PL.+TL., 100vol. 6
600rozpl., 2x(200N+100R), 16x50-(4xVI+4x2.zp.) /1:00. 600Ro0zpl.,10x200PZ/3:20 9xM-8 + 1xM-5, 100vol.,
Ut |800-(150CV+50N), TEST:2x(3x100VL-max /3:00+400N)/22:00, |5x400PZ+PL./6:00 - 4xM-8 + 1x M-5, 100vol,10x200PZ+PL
6.2. |1200-(150R+50N)-lib, 200Vol., /3:05 9xM-8 + 1x M-5, 100vol.
5,6 7,1
800rozpl., 1000 -obratky-rozbor, 1200-(100R, 200N, 300C) 700rozpl., 100PZ/1:45+2x100N-VI./2:00+4x100K/1:30+
St 1xVI.+1xlib. 4x100PZ/1:40+2x100NK/2:15+1x100VI., 100vol,
7.2. TEST: 3000K , 12x100-3xZ+1xPZ/K
3 6,4
800rozpl., 5x300N-1xVI-(50CV+100 M-11), 1xVI M-10, 1xPzZ 700rozpl., 12x50M/1:00, 12x100Z /1:45, 100vol., 12x50NV
¢t |M-10,1xVI. M-8,1xVI. M-5 i30-5,100vol.,5x400N+PL.-1xPZ s PL. /55, 12x100-(75P+25K) /1:50, 100vol., 12x50M+PL.+TL
8.2. IM-12,1xM M-10, 1xPZ M-10, 1xM M-8, 1xPZ M-5, 100vol. 12x100-(25P+75K)/1:40,400vol.
4x(6x50 /1:15+50vol.)-1x(15max bez odrazu+35vol.),1x(10+1C
obratka+30vol),1x20m Start +30vol),1x(200draz+TL.+30vo0l.)5,9 6,7
400rozpl., 200N, 8x50N-VL./1:10, 200R, 8x50R-VL./1:00,200CV |800rozpl., 4x(25M+50Z+75P+100K)/4:10 M-8, 4x200N-1xVL
P& ]8x50-(25VI-max+25vol.), 100vol, TEST:(1x50VL-max+50vol, alxPZ /4:00 M-10,4x(25M+50Z+75P+100K)+PL./3:50 M-8,
9.2. |2x50VL.-max+50vol.,3x50VL.-max+50vol,2x50VL.-max+50vol.  |4x200R+TL. i20, 4x(25M+50Z+75P+100K)+PL+TL../3:50 M-¢&
1x50VL:-max+50vol.),(400N+300CV+200N+100CV)-PL., 100vol.
400K+300Z+200P+100PZ, 100vol. 5,5 6,5
700rozpl., 10x50VI-(10max odraz+30l+10max dohmat),
So ]5x400K /6:00 - 4x M-8 + 1xM-5, 100vol., 5x100-(15max START
10.2.[25l+20max obratka+30l+10max dohmat), 7x200K+PL. /2:45-

6x M-8 + 1x M-5, 100vol., 2x200PZ -(START+obratky +dohmat’
max,9x100K+TL.+PL.-8x M-8+1x M-5,300v 6,6

Celkem: 71,9




